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Geometiry Group Quiz — Chapter 9 ( points) *SHOW YOUR WORK?**
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PART 1; SHORT ANSWER ( points)

1) Tell whether the transformation appears to be a rlgld motion. Explain. [ ,
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2) If a transformation maps GHIJ to G’H'I'J, what is the 3) Point R(x, ) moves 13 units right and 14 units down.
lmage Of I’? What is the image of GH ? h What is a rule that describes this transtation? C,‘ j
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4) Draw the image of each figure for the given transformation.
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3) AONM has vertices (-4, 2), N(3, 6), and AK0, &), e
What are the coordinates of the vertices of ] e
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6) Is the transformation of AB with vertices A2, 3) and R -
B(~1, 2), first across &= and then across p+=2,a 4+ - | T e
translation or a rotation? For a translation, describe the | 4 1y
direction and distance, For a rotation, tel! the center of A . & e
rotation and the angle of rotation. @ o i F
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7) The point (-1, —1) is the image undet the translation
T s 5 (x, ). What is its preimage? (1 point) )

8) In the diagram, is one figure a reflection image, a
translation image, or a rotation image of the other? Gw)
(1 point)
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9) Fill-in the composition statermnent that maps one figure to the other. 2oz

) (T, ok J(a4BO)=AFGH (B /&% (T}, .2 *"ias oy (ADEF) = AQPR Ie5
ol |¥ TPTIE 40° = (-3..»«‘)?
PO P
5 Ll X
& T jl
4 oI ¥ ,:Q“-'- . +rty
ALt wdﬁﬁij. f -.1  o]
i w}t}"lfé'. L ‘\#
XA TG
(2 i
s" 4_'3

b
PART 2: EXTENDED RESPONSE ( points)

composition (r(go.,’ o) °Tis 2 )( AABCY) is equivalent to the
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A composition of transformations used to describe a congruence transformation is not unique. Show that the

A(1,2), B(-3,-4) and C(0,-5). List the final coordinates for each composition.
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